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TERM1 = 0o

GO TO 14

TERM1 = COEF1*LOG(DOG3)

COW1 = BETA¥*BETAP-2¢*ALPHA*GAMAP

COW2 = BETAXGAMAP-2 ¢ *GAMA*BETAP

RIGH1 = (COW1*R*R-COW2)/EPSI

RIGH2 = (COW1*¥R1%¥R1-COW2)/EPSI1

PIG1 = BETA¥*BFTA=-4¢*ALPHA*GAMA
IF(PIG1)16s15s16

TERM2 = 0.

GO TO 17

COEF2 = STRO¥Z*(34%A2(1)=44%A1(1))/(3e%PIG1)
TERM2 = COEF2%¥(RIGH1-RIGH2)

Pl = RI¥RING*(A1(I)*R1*¥R1+3.%*A2(1)%Z%Z+A3(1))
TERM3 = (B/3e)*(2e%A1(1)=3e%A2(1))*(R¥R=R1%*R1)
STRR = TERM1+TERM2+TERM3=P1

TERM4 = ((4e/3¢)%A1(1)%STRO%R*R)/EPSI
TERM5 = (2e/3¢)%A1(])*B*(R¥R+R1%R1)
TERM6 = A2(1)%B*(R¥R-R1*R1)

STRT = TERM1+TERM2-TERM4=TERMS5-TERM6-P1

PIG2 Te¥A1(I)*¥R¥R+9e*A2 (1) ¥Z%Z+34%*A3(1])

TERM7 = ((2¢/36)*STRO*PIG2)/EPSI

TERM8 = (2e/34)%A1(]1)%*B*(64*R¥R+R1%R1)

TERM9 = 6e%A2(]1)%B*Z*Z

STRZ = TERMI+TERM2-TERM7-TERMB8=-TERM6-TERM9=24%A3(1)*B=P1
PRESS = (1e/3e)*(STRR+STRT+STRZ)

PIG3 = (2e/3e)*R¥Z¥(3e#A2(1)~4e*A1(1))

TAURZ = B*PIG3+(STRO*PIG3)/EPSI
TAUNO = (1e/24)%STRO+(1e/2¢)*B*EPSI
TAURZ = ABS(TAURZ)

TAUNO = ABS(TAUNO)

IF(TAUNO-TAURZ) 31533533
TAURZ = TAUNO

PUNCHs STRRs STRTs STRZs R

PUNCHs PRESSs TAURZ
IF(R-R1)8937+37

PUNCHs R1ls Pls Zs HC
IF(Z-HC)6+40940

CONT INUE

PUNCHs ROs HOs STROs B
PUNCHs UNUs G

PUNCHs Fs RINGs STRAC
GO 70 1

END

FIG. 23 (CONTINUED)
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